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General Instructions :-

() TE®, 1d 576 AT T30 T § TAF T W | 3 Afea
¥ T IR U Y1e2 4T O A | foifa

Question No. 1 to 5 are very short answer type questions. Each
question carries 1 mark. Answer should be given in 1 word or 1

sentence.

(i) %69 10 TF Tl I T 2 37 ¥ (962 W30 W=3)
Question No. 6 to 10 carry 2 marks each. (word limit-30 words)
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Questiog No. 11 to 22 carries 3 mark each. (word limit-50 words)

(iv) T FHI® 23 W 4 I B) (e HiAT-70 T152)
Question No. 23 carrics 4 marks. (word limit-70 words)

(v) SRR 24 ¥ 26 TF TE T W 5 3k 81 (I HHT-100 71e2)
Question No. 24 to 26 carries 5 mark each. (word limit-100 words)

(vi) & IaES g, TR vl wier i) v @@= awifea R aand

Write chemical equation and draw clean and labelled diagram
wherever necessary.
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[Very Short Answer Type Questions)]
weR-1 o iy s wfonfia fFREn 1
Define physical adsorption.

w2  Fefefes st A i dar dtm (1]
45t 3Afae i 2

Write the structure of following organic halogen
compound.
4-Bromo 3-methyl pent-2 ene
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Write the order of decreasing acidic character of the
following compounds.

(I) Cyclohexanol
(I1) 2,4,6 trinitro phenol
(111) Phenol

-4 faer fefiga =t i fifa 1]
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Complete the following.

Cellulose is a linear polymer of .

w5 Ficeese W 2, sk e o i fada b e IR [1]
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R R frer fafea ve & sw &
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Formaldehyde is a gas and is soluble in water. It is used
as a disinfectant and as a germicide. On the basis of the
above information answer the following question :-
=> What is formalin and its main use?

[T 3]
. [Short Answer Type Questions]

w6 PR arie s & ol SR, o i 2]
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RNHj +CHCl3 +3KOHgjc ) > =—=—~

Complete and name of the following reaction.
RNH2 +CHC|3 +3KOH(ak_)“"‘ -----
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If the density of 20%6 (mass/mass) aqueous solution of
Potassium lodide is 1.202 gml“]_ Then find the molanty

of this solution. Where, molar mass of Potassium and
lodine 1s 39 and 127 respectively.

TH-8 o & ATaRTES F AW T g7 fafin 2]
Write the name and formula of Sulphur Oxide.

N9  UF TaRHs 3w & i fraremes & qrsgr o i 20 2]
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For a chemical reaction, the concentration of reactant was
initially taken to be 20 mole/litre. For this, the half life
period obtained to be 30 minutes. If its concentration was

taken to be 40 mole/litre initially, then after 1 hour 50%
of the reactant remains.

conclude? What will be the order of reaction?
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Pure and freshly distillated aniline is colourless, but

when kept open, it tums brown colored after some time,
why? Give the equation,

[FY-3907 74]
[Short Answer Type Questions]
~ w11 R Tges w d w et fr el ddfiuer [2+1=9)
&1 dhaer 77 fafeadh

What is a biodegradable polymer? Give an example of a
biodegradable aliphatic polyester.

OA-12 (i) S JEQT T [142=3]
What is energy barrier?
© (i) wRRd T A Rs T A S R At

Write any two differences between rate of reaction
and rate constant.

TH-13 () Pt vt At g3 fafed [11 |
T TSR R () AT

Write the formulas for the following co-ordination
compounds :-
Tetra hydroxo zincate (1I) ion.

@ NICN)4 >~ A g &, Jafe 2]
Ni(Cl)4 >~ e Sggra &, =i
[Ni(CN), 1%~ ion is diamagnetic and the
[Ni(C1)4 12~ ion is paramagnetic. Why?
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What are carbohydrates? Write the name of the
carbohydrate present in milk. In what form are
carbohydrates stored in the body of animals?

TEE-15 (i) Behed IR te, AffE T &, w4 | [1%]

Halogen form interhalogen compound, Why?
(i) T 6l F TAYIF TG FA TR, WD [1%]

Boiling point of inert gas is very less. Why?

q-16 () Mo fEuls s ads &t vionfya Sl I
@) &I H TG | IS T W 373K QAT R, 2]
Safh | Siad Gohie &1 Jefty faeaT 373.52K
Jaeran & e i
(a) Define the molal freezing point depression constant.
(b) The boiling point of pure water is 373K at 1

atmospheric pressure, whereas an aqueous solution
of 1 molal sucrose boils at 373.52K. Explain.

U¥A-17 (3 SAferiveer gerardt T &2 [2+1=3]
(®) S T T § e et d 4 T wea f, @
T egoT B
(a) What is an adsorption Isotherm?
(b) What will be observed when a beam of light is
passed through a colloidal solution?
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(a) Draw a well labelled diagram of blast furnace used

in extraction of iron.
(b) What is the role of lime stone in smeiting process?
Give equation.
UEH-19 () T T4 IR0EE R &7 & Rrewr A [1%]
@) FAT A T 82 G e A (%]

(a) What are food preservative? give an example.
(b) What are artificial sweetening agents? Give an
example.

W20 N2 (f-3vp) v O s subRTRI Y @ 131

IRTET Z HAARY
What is SN2 nucleophilic substitution reaction? Explain
with an example.

w21 IR e R e it & s fafiedn 3]
(1) Rfvsfcea
2) TR it
(3) FEJA I

Explain the Haber’s process of ammonia under the
following point-

(1) Prnciple of law

(2) Chemical reaction

(3) Any two uses
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(A) Explain the reason of solubility of phenol in water.

(B) Write the chemical equation and name the main
product when Hydrogen iodide reacts with Benzy!
Ethyl Ether.

[-3wlta 7w
[Long Answer Type Questions]
23 () HrIew S e a wEaidm e daa ey 1]
TR
@ i g e sqererdia ffae & f gl 1]
(@) o-¥FF s - wug & ot ) srfiPra 1]
FHA WA &
@) - 3 F =T 37 7 | o,

(a) Draw a diagram of the centered unit cell of the
cubic lattice.

(b) Draw a figure for tetrahedral voids formed by
spheres. |

(¢) n-type of semiconductors are formed by doping
which group of elements.

(d) What is the meaning of ferromagnetic solid?
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(a) Draw a diagram of cubic lattice face centred unit cell.
(b) Draw a figure for octahedral void formed by

spheres.
(c) What is the meaning of p-type semiconductor?
(d) What is the meaning of Antiferromagnetic solid?

[Ee-3e 5]
[Long Answer Type Questions]

W24 T AR SR T TR P JORIS T TS BTG [3+1+1
TRIS T & 4 faega varafis g & mitea e 0 =5
weRia iy
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Show the labelled diagrammatic presentation of
electrochemical cell which have Copper electrode having
one molar Copper sulphate electrolvte and standard
Hydrogen electrode.

Write the cell reaction and find the standard
electromotive force for this cell. When the value of
standard electromotive force for Copper electrode is
+0.34V.
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Show the labelled diagrammatic presentation of
electrochemical cell which have Iron electrode having
one molar Ferrous sulphate electrolyte and standard
hydrogen electrode.

Wrte the cell reaction and find the standard
electromotive force for this cell. When the value of
standard electromotive force for Iron electrode is —0.44V.

¥H-25 (37) WTEATE, 5 ;- 1]
VY STEHME i TR HeRRh 31 W aifeam
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(@) IR (Cegq) F1 T e feafgdh [

(a) What happens when :-

~ Potassium dichromate heated with conc. Sulphuric
Acid and Sodium Chloride. (write only chemical
reaction)
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(b) TiO, is white, while TiCl3 is coloured, why?

(c) Transition elements form interstitial compounds.
Describe.

(d) Write the electronic configuration of (Cesg)
Cenum.

Haqr
OR

(31) T grar ¢, I iy iR st are o m
Jrifere T & foram T &1 [Fae TaRfAS

afieor i)
@ Cr2t qur Fe2t § 3 9 yoet Soams & sk 1]
@) A G A & e &, el il | I{zl
@) TR HT (Lryg3) T e fafed m

(@ What happens when :-
Potassium permanganate reacts with oxalic acid in
acidic medium. [write only chemical equation]

(b) Which is a stronger reducing agent ot or Fe2+
and why?

(c) Transition elements form complex compounds.
Describe.

(d) Write the electronic configuration of Lawrencium
(Lry03)-
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(a) Boiling point of carboxylic acids are higher than
alcohols of comparable molecular mass, why?
(b) Describe the following reaction with equation :-
(i) Aldol condensation
(i1) Schmidt reaction

Fadr
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(31) FIA F TS T GHTEIe Aeeage i AT 2]
@) Pt sty e afi v
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(a) Boiling point of Ketone is somewhat more than
corresponding isomeric aldehyde, why?

(b) Describe the following reaction with equation :-
(1) Cannizzaro reaction
(i) Stephen reaction
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